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The idea of empirical probability
was introduced by

(1) Pascal

(2) Peter and Paul
(3) Thomas Bayes
(4) M. Loe’ve

The family of  parametric
distributions, for which the mean
and variance does not exist 1S

(1) Polya’s distribution

(2) Cauchy distribution

(3) Negative
distribution

(4) Normal distribution

binomial

If n, the sample size is larger than
30, the students t-distribution
tends to

(1) Normal distribution

(2) F-distribution

(3) Cauchy distribution
(4) Chi-square distribution

The relation between the mean
and variance of y*> with n degrees
of freedom is

(1) Mean =2 Variance
(2) 2 Mean = Variance
(3) Mean = Variance
(4) None of these

(3-A)

The distribution for which the
moment generating function does
not exist but moments exist is

(1) Pareto distribution
(2) t-distribution

(3) F-distribution

(4) All of these

Ogives for more than type and

less than type distributions
intersect at

(1) Mean (2) Median

(3) Mode (4) Origin
Pie-chart represents the

components of a factor by
(1) Percentages

(2) Angles

(3) Sectors

(4) Circles

Ordered statistics is a sequence of
(1) Observations

(2) Ranks

(3) Natural numbers

(4) Integers

Bayes approach is

(1) Universally accepted
(2) A matter of controversy
(3) Irrelevant

(4) None of these
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A test which maximises the power
of the test for fixed ‘a’ is known

as
(1) Optimum test

(2) Randomised test

(3) Bayes test

(4) Likelihood ratio test

Analysis of variance utilises :
(1) F-test

(2) y’-test

(3) Z-test

(4) t-test

The main tools of statistical

quality control are
(I) Shewhart Charts
(2) Acceptance Sampling Plans

(3) Both Shewhart charts and
Acceptance Sampling Plans

(4) None of these

Probability of drawing a unit at
each selection remains the same in

(1) SRSWOR

(2) SRSWR

(3) Both (1) and (2)
(4) None of (1) and (2)

14.

15.

16.

17.

5-A)

Which of the following statement

is true ?

(1) More the
better it is

(2) Less the
better it is

standard error,
standard

error,

(3) Standard error is always zero

(4) Standard error is always
unity

The idea of resolution of

Fractional factorial designs was

introduced by

(1) F. Yates

(2) D.J. Finney
(3) Box and Hunter
(4) S.R. Webb

A linear trend shows the business
movement of a time series towards

(1) Growth

(2) Decline

(3) Stagnation
(4) All of these

Least Square Method of fitting a
trend is

(1) Most exact

(2) Least exact

(3) Full of subjectivity

(4) Mathematically unsound
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Most commonly used index

number is

(1) Diffusion Index Numebr
(2) Price Index Number

(3) Value Index Number

(4) None of these

Sampling error in respect of index

numbers can be reduced by

(1) taking a random sample of
items

(2) including large number of
items

(3) both taking a random sample
of items and including large
number of items

(4) neither taking a random
sample of items nor including
large number of items

The condition for the time reversal
test to hold good with usual
notations 1s

(1) P,xP,=1
(2) P,xP, =0
(3) P, /P,=1

4) P,+P,=1

For consumer price index, price
quotations are collected from

(1) Retailers

(2) Wholesale dealers
(3) Fair price shops

(4) Government depots

22,

23.

24.

25.

(7-A)

Index numbers are the special type
of

(1) Averages

(2) Percentage relatives
(3) Ratios

(4) All of these

A customer leaves the queue due
to impatience after joining it is
called

(1) Collusion
(2) Balking

(3) Jockeying
(4) Reneging

A transportation problem will
have feasible solution if

(1) Total supply < Total demand
(2) Total supply > Total demand
(3) Total supply = Total demand
(4) Total supply # Total demand

An assignment problem in a queue
1s said to be in explosive state if
traffic intensity row is

(1) equaltol

(2) lessthan 1
(3) greater than 1
(4) infinity
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Vital statistics is greatly utilised
by

(1) Actuaries

(2) Planners

(3) Social reformers

(4) All of these

The ratio of births to the total
deaths in a year is called

(1) survival rate

(2) total fertility index
(3) wvital index

(4) population death rate

The definition of prior probability
was originally given by

(1) De Moivre (2) Laplace
(3) Von-Mises (4) Feller

A school class of 120 students are
driven in 3 buses to a symphonic
performance. There are 36
students in one of the buses, 40
students in another, and 44 in the
third bus. When the buses arrive,
one of the 120 students is
randomly chosen. Let X denote
the number of students on the bus
of that randomly chosen student,
and find the expected number of
students on the bus of a randomly
chosen student.

(1) 40.7662
(3) 40.2667

(2) 40.6762
(4) 40.0000

30.

31.

32.

9-A)

Match the correct expression of
probabilities :

a. P(9), where i. 1-P(A)
¢ is null set

b. P(AIB) P(B) ii. P(ANB)

c. P(ANnB) iii. 0

d. P(A) iv. P(A) —P(AnB)
Codes :
a b ¢ d

(1) i i1 v i

(2) i il ivoi

(3) ii iv i i

4) i i1 iv il

A histogram can be drawn for the

distribution with unequal class

intervals by considering

(1) Class frequency

(2) Height of bars proportional
to class intervals

(3) Height of bars proportional
to frequency density

(4) All of these

Which of the following statement

related to statistic is not true ?

(1) A function of the sample
values.

(2) A function of the sample
values with known
parameters.

(3) A function of the sample
values and independent of

parameters.

(4) A function of the sample
values with unknown
parameters.
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In the Gauss elimination method
for solving a system of linear

algebraic equations,

triangularization leads to

(1) Diagonal matrix

(2) Lower triangular matrix
(3) Upper triangular matrix

(4) Singular matrix

Match the following :
1. Newton- 1. Integration
Raphson

11. Runge-Kutta 2. Root
finding

1. Gauss-Seidel 3. Ordinary
Differential
Equations

1v. Simpson’s 4. Solution of

Rule system of
Linear

Equations
The correct sequence is :

111 1 1v

1M 2 3 4 1
2 3 2 1 4
3 1 4 2 3
@ 4 1 2 3

3S.

36.

37.

38.

39.

(11-A)

Pitman’s estimator for location
parameters are generally

(1) unbiased

(2) Consistent

(3) A function of sufficient

(4) None of these

The lower bound for the variance
of an estimator Tn under amended
regularity conditions of Cramer-
Rao was given by

(1) R.A. Fisher

(2) A. Bhattacharya

(3) Silverstone

(4) All of these

The decision criteria in sequential

probability ratio test (SPRT)

depends on the function of

(1) Type I error

(2) Type II error

(3) Both Type I and Type II error

(4) None of the two types of
errors

The number of possible samples
of size ‘n’ out of ‘N’ population
units without replacement is

o Y] o,
3) N 4) n!

If we have a sample of size ‘n’
from a population of ‘N’ units,

then the finite  population
correction 1s
N-1 n-1
1 —— 2
(D) N (2) N
N-n N-n
3 4
3 @
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The formula for estimating one
missing value in a Latin square
design of order k with usual
notations is

) R'+C+T'-G
(k—=1)(k-2)
) k(R'+C'+T")-2G
(k=D)(k-2)
3) k(R'+ C;+T')—2G
(k”=1)
4) k(R'+C'+T")-2G

(k=1)*(k-2)*

Which of the following is basic
laws of supply and demand ?

(1) If demand increases (demand
curve shifts to the right) and
supply remains unchanged, a
shortage occurs, leading to a
higher equilibrium price.

(2) If demand decreases (demand
curve shifts to the left) and
supply remains unchanged, a
surplus occurs, leading to a
lower equilibrium price.

3) If demand remains
unchanged  and  supply
increases (supply curve shifts
to the right), a surplus
occurs, leading to a lower
equilibrium price.

(4) All the above

42.

43.

44.

(13- A)

Which of the following is True ?
(1) Y- =D x*-2Nz’

2) Y (-0 =D 2 -N*3

3) Y(x-3 =) x-Nx

4 2 (xn-0=0

If there are profit opportunities in
the stock market, but they take a
long time to realize, which
stochastic process most closely
reflects this behaviour ?

(I) A Random Walk.

(2) An AR-1 process, as defined
in class, with p close to 0.

(3) An AR-1 process, as defined
in class, with p equal to 0.5.

(4) An AR-1 process, as defined
in class, with p close to 1.

Which of the following is a
DISADVANTAGE of using pure
time-series models (relative to
structural models) ?

(1) They are not theoretically
motivated.

(2) They cannot
forecasts easily.

produce

(3) They cannot be used for very
high frequency data.

(4) It is difficult to determine the
appropriate explanatory
variables for use in pure
time-series models.
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TeDeod  J[RLMN00NT ﬁwaz‘}éoda

IRATST TRBE Wil B IYNS

o3I H, ?

(1) ©033ed8 soodesy MOFRAPRE
o33,

(2) STITZITYT  QEOFNIR,
BATODTEA DU RJIEOFNHR
T wrtod A wFme wndos
B8 AFTYED.

(3) o =eDoDIes
STITIZ, TR YT,

4) 2RI dumEp

SRWE wemrReo’  BoBAodn
TGO 08 IRy IPHIS. 8
IINT STROI0DTY, MeDAR. DIKET
W0 TS TONT TRTOCNND
T0ZR. FeedE IEAT ﬁa;s@ 20T
3037 25 TemdlneaNTZES.
TONAT a"zg@ AOIAD  AONGES
ST 12.5% «nd. TNgd @
IR SpDTOD T, 03P T ?

(1) %2,000
(2) 72,500
(3) 23,000
4) 1,500

47.

48.

49.

(14 - A)

INT RUIBNFE ooy @&égm

20T AeZoHy ?

(1) ooz=3oe dSeTH Sy (n +
1) 3¢ SRERES HooAd 23,
a"a;;@ n IRET ROIRO e,

a"a;ﬂ%&os £a§ﬂz§e‘g n =xJED
2:9032355@ NITTTORY
LTI,

(2) =NI SHET ITETD SR
P0BT W[RET TWOIRD )
308,080 FRBOANTE
POTTTEDTITY, LT,

(3) =Y BFTY FYYHTT
T FYwoN IUR S@YTT
VP TYS LI ATETHD
BT,

4) 2NV duHp

8 IINTPNTFEY oY WeRs-
3ReFFT TWD  APIT Tysoaw
NPIVRY ?

(1) de® T ages

(2) Baef s

(3) 3don® e

(4) ROFATE QI

NRR =38 GRR n¢ Swaes
TOWOFR)

(I) NRR &8 GRR 0%
FOTIVTEN RaW.

(2) NRR, GRR &) &0etos3be)

(3) NRR & GRR no3

[ADENDIMCNDI)) c&racgcﬁa
(4) 2RINIE TP



45.

46.

119

Which of the following statement
18 true for canonical form of linear

programming problem ?

(1) The objective function is of

the maximization type.

(2) All the constraints are of the
less than or equal t type,
except for the non-negative

restrictions.

(3) All the variables are non-

negative.

(4) All of these

The New tech. Hardware
Company sells hardware items.
Consider the following
information. The Annual sales is
% 10,000, Ordering cost =% 25 per
order and Carrying cost = 12.5%
of average inventory value. What

1s the optimal order size ?
(1) 2,000
(2) 2,500
(3) 3,000
4) 21,500

47.

48.

49.

(15- A)

Which of the following suggestion
1S not an optimal replacement
policy ?

(1) Replace the equipment at the
end of n years, if
maintenance cost in the (n +
1) year is more than the
average total cost in the n®
year.

(2) Replace the equipment, if the
current year’s maintenance
cost is less than the previous
year’s average total cost.

(3) The old item has not
deteriorated and works badly
or requires expensive
maintenance.

(4) All of these

Which is not a principle method
of construction of abridged life-
table ?

(1) Reed Merral method
(2) Greville’s method
(3) King’s method

(4) Selvister’s method

The relation between NRR and
GRR is

(1) NRR and GRR are usually
equal

(2) NRR can never exceed GRR

(3) NRR is generally greater than
GRR

(4) All of these
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X SReT 0wty =IINY Hoadodw
7059 esNG. 23 BONAT FosJ030
107700 ©Ac. wpld0os SP&bdon
zF0 GFR (mosms, posgdod
WDTZ) 0B TFR (2.t Fomgdon

WTT) (TOPRS @oBT n = 5)
0T 0N B3 D€ BT :

(1) 65.55 sz 2230
(2) 66.56 3 2302
(3) 64.55 w3 2203
(4) 65.00 3 2232

2o con  HoymReohIod  Fed3
JoR) €O QLIITZOTORN &,590,

HFYE Toleerin oy mEZoD
FOTBA
(1) =ems
T BT TS INTINTHZES.
(2) momp
S eERoTHNTHZS,
(3) BBOTTONTHTOSINTINTHES.
(4) TORP TR T3y b
T BN TOBINTINTHZES.

LRI WO GRED LB,
WOCOATIN. BB BRTURE

waaPs X 10,000 ezme Qomse
WTVTID 3 5,000 s
R0ITACON3 0N T,230e59N 0.001

033 0.003 2083, 83 woesd 33esn
BT JODOINI 23e3 O 2
(1) 100 (2) 25

(3) %30 4) 50

53.

54.

SS.

56.

(16 - A)

X om@® oIRGEE  #omad
orin C om 4Tudoinad @3y V
SHPD DIUBoIRTT, B NS
038 De3UBoDH BASEYH FO ?

(1) V(CX)=C2V(X)

2) V(©)=0

(3) V(X+C)=V(X)+C

4) V(X +C)=V(X)

& IR BT FoJTACODIOoD
5)30’5033@

X |2 0 2 14
PX) |0.15 02 06 005

X 3 3933% (S.D.) QoS o 2

(D 1.1 (2) 3.8
(3) 2.59 4 1.6

2000 TOTPEE  DITHEY, RN
Aom FOT03T  Domdny ﬁos@zsoja
NBOUROD 23e3o3n

7 35
H 2L 2) 2
a2 @ 2
o1 49

3 2 @ =

00T én’c’w@ 633%?5 RTIRD 3 Ded
QBN APOTIMHIN. ToMaTT
T,B0T  AFOTNOT Ded  Qemne

23033 N8O (S.D.) O 2
(1) 3
2 3
3) 9
(4) 2N YTR ¥
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The total number of births for x
year is 7059 and total number of
women is 107700. Based on the
available information the GFR
(general fertility rate) and TFR
(total
respectively : [age interval n = 5]
(1) 65.55 and 2230

(2) 66.56 and 2302

(3) 64.55 and 2203

(4) 65.00 and 2232

fertility rate) are

In classical school of thought on
classical probability assumes that
all possible outcome of random

experiment are

(1) equally likely

(2) mutually exclusive

(3) 1independent

and

(4) mutually  exclusive

equally likely

A man purchases a raffle ticket.
He can win first prize of ¥ 10,000
or a second prize of ¥ 5,000, with
0.001 and 0.003

respectively. What should be the

probabilities

fair price to pay for the ticket ?
(1) %100

(2) %25

(3) 30

4) %50

53.

54.

SS.

56.

(17 - A)

If X is a random variable, C is a
constant & V is the variance, then
which of the following law of
variance is not correct ?

(1) V(CX) = C2V(X)

(2) V(C)=0

(3) V(X+C)=V(X)+C
4) V(X +C)=V(X)

Given the following probability
distribution :

X |2 0 4+ 44

P(X) [0.15 02 06 005
What is the S.D. of X ?

) 1.1 (2) 3.8

(3) 2.59 4 16

The variance of the number of
points obtained in the through of a
fair dice 1s

7 35
2 @ =
91 49
3 2 @ 2

On an average 3 street light fail in
a city everyday. S.D. of the
number of failures per day is

(1) 3
2 3
3) 9
(4) None of these
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2R3, 3O TR0 (Null hypothesis)

FOIOTEN BBAFRHTD
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SeYchie
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-0 R=gd
(1) «. cpl
(2) T8 Q. H30°
(3) 22 JeahHt

(4) . af. oz

61.

62.

63.

64.

(18- A)

z%wcs &36%053@ ATIRO, mqﬁéé
TR QTOCOT 3e3nsh
HORTINTTINMOTY T &Gﬁigé)

(1) P=0.5 2) P<05

3) P>0.5 4 P=1

mmﬁé 8)30’5053@ NEIB RTIROOD
23e3o3n ,fgc’mﬁcig, DT DWORO3IN
L0388 HITHo

(I) 30mon mome ©& oZTwN

3ReTH8A

(2) wed, 8003R0&TIEO3
3ReTH8A

(3) w3, 8T0U3R0&TIEOZ
3ReTH8a

(4) BIZ@odeN  Tone  wneeN
TOREOS 3ReTLIT

U=Xa3 V=— X 3008 so0fe
20H0°  Haf RBeOF  THE00d
ReR,088 tidoms

(1) yUV)=+1

(2) vU,V)=0

3) vUv)=-1

4) Y(UV)=0.5 achgd

202203 Beadodn ee3eaund SPRVROT
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The null
represents

hypotheses  usually

(1) the theory of the researcher
would like to prove

(2) the perception of the sampled
population

(3) the status quo

(4) the preconceived idea of the

researcher
When one refer to ‘“how
significant is the  sample

evidence” he is referring to
(1) the value of o

(2) the p-value

(3) the value of 1 — «

(4) the value of test statistic

The critical region of size a,
which minimized p amongst all
critical regions of size o is called

(1) best critical region
(2) powerful critical region
(3) minimum critical region

(4) worst critical region

The idea of testing of hypothesis
was first put forth by

(1) A.Wald

(2) R,A. Fisher
(3) J. Neyman
(4) E.L. Rehman

61.

62.

63.

64.

(19-A)

Mean, median and mode of
Binomial distribution will be
equal if

(1) P=0.5

2) P<0.5

(3) P>0.5

4) P=1

A larger standard deviation for a

normal distribution with an

unchanged mean indicates that,
the distribution becomes

(1) narrower and more peaked
(2) more skewed to the right
(3) more skewed to the left
(4) flatter and wider

Karl
coefficient between U = X and
V=-Xis

(1) vUV)=+1

(2) vU,V)=0

(3) wUV)=-1

4) wUV)=0.5

Pearson’s correlation

When
through the origin then

regression lines passes

(1) Slope is zero
(2) Intercept is zero
(3) Regression coefficient is zero

(4) Correlation
Zero

coefficient 1is



65.

66.

67.

68.

119

X, X, o5 X, ned S
Woneandd, X, ob  TuRs
JemERAT So3on X, H X,
IBAT PNB: BBWOGDTIN oY
HReI0G THER0FTE ROOINT BRI

(1) r,, = Iys = Iy
R V(l—r;)(l—r;)

_ Ly I Iy
(2) 31 =

Ja-2)(1-r2)

(3) 1, = T3 =T Tis
1

Ja-r2)1-r2)
(4) B0cOT oIRPHTR WY
SO TNy eSeer] TOYODRY
BReOT T0BED gelaiaey @%ﬁﬁeamgcﬁ
(1) T3 WIS T (F:30969)
(2) 3Bex, TR BT (T399)
(3) BEwe3e3OAT FTed TS
(4) dRYRoTIZREBY TT

GRR 2303w 1 8,08 2508 g3 amd
&TH0aJ 0P

(1) 2oy Reesa3d

(2) aPonYy RewAIE

(3) DI yBony BAWHIS

(4) 2INTE IYTR ¥

X3§ 2enT 3oFEW 0T BeTT

e° 030 BRTOINFH T VEdT
1
(1 =

X

2 =

= =

[—

>

o

Q) =

X

(4) PN cIPTR B

—

69.

70.

71.

72.

(20 - A)
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If X,, X, and X, are three

variables, then partial correlation
between X, & X, after eliminating

the effect of X, in terms of simple

correlation coefficient is given by
the formula

(1) I3 =Ty Iy

T. =
o Ja=eha-rd)
2) 1, = T — T Ty
S Ja=)a-rd)
I, — I, T
(3) 1, ==L

Ja-r2)1-r2)
(4) None of these

For comparing health conditions
of two towns we have to calculate
(I) Crude Birth Rate

(2) Crude Death Rate

(3) Standardised Death Rate

(4) Net Reproduction Rate

If GRR 1s more than 1, it indicates
population would

(1) Increase

(2) Decrease

(3) Remain stationary

(4) None of these

In life table expectation of life at x

i.e. e° is obtained by
|

M
TX
@ 7
dx
Ol

X

(4) None of the above

69.

70.

71.

72.

(21 - A)

In the measurement of secular
trend, the moving averages

(1) measure the seasonal

variation

(2) give the trend in a straight
line

(3) smooth out the time series

(4) calculate the A mean

The most commonly used
mathematical method of
measuring the trend is

(1) moving averages

(2) least squares

(3) semi averages

(4) None of these

In the theory of time series, the
shortage of certain
goods before annual budget is due
to

consumer

(1) cyclic variation
(2) secular trend
(3) irregular variation

(4) seasonal variation

A good index number is one
which satisfies

(1) TRT
(2) FRT
(3) Circular test
(4) All of these
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ARIY0T FOATY TBER0DY 88 IFNI

O3 HoIROOID #3087 SJohd
S YVZTITO

(1) nea2 moomd/Arithmetic mean
(2) =2nsmaoIRDd/Weighted mean
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4) mc;éi:’/Median

V(X) SRS = ROY omcg)aé)é
SPTOONOoH NIT FoOIROO®
DB

V(X)Prop = DTSTY

T0WBOIPNTOT  NONBERN &%’5&%
odmzﬁe)aéﬁ DITOON NEIZ RTIROOD
QB3

V(X)opt= eI BoesEond,
QNONBHNA ao%fwé% 03502%2%%‘ Aplatelows)
NS FTIRDOH DWW ‘&Zéé’, =]
TYNT O30T wWRDPIZoIN  ®O
elesicial

(1) VX)gs € VX)pyop £ VX)op
(2) VXgrs VX op VX prop
(3) VX)grs 2 VX)pryp 2 V(X) o
(4) 2N YTR ¥Y

AONOZEH  2WITE 2300
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S0,

76.

77.

78.

(22 - A)
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Theoretically the best average for
the construction of an index

number is

(1) Arithmetic mean
(2) Weighted mean
(3) Geometric mean

(4) Median

Variance of the sample mean X
under simple random sampling,
stratified random sampling with
allocation and

hold

proportional

optimum allocation the

correct inequalities as

(1) VXsrs < VXD prep VX
(2)  VX)sps < V(X gp V(X
() VXsps 2 VX prpp 2 V(X) o

(4) None of these

In control chart upper control limit
(1) can be negative

(2) 1is always positive

(3) Both (1) and (2)

(4) None of these

76.

77.

78.

(23 - A)

In Transportation Problem, North-

West corner rule is used to find
(1) 1initial feasible solution
(2) an optimal solution

(3) non-optimal solution

(4) None of these

In a self service canteen there is
only one cashier at its counter.
Nine customers arrive on an
average every five minutes, while
the cashier can serve 10 customers
in five minutes. Assuming Poisson
distribution for arrival rate and
exponential distribution for
service rate. Then average number

of customers in the system is
(1) 2

(2) 1.8

3) 9

4 5

An estimator T  of population

parameter 6, converges in

probability to 6 as n tends to
infinity is said to be

(1) unbiased

(2) efficient

(3) consistent

(4) sufficient
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(1) =8ITHITHD

(2) Q0DT0TE WOTIRE TEWS0D
RS TRTOODY AnTTIT
ROTPEE 3390S01TY, WIAET

(3) ST

(4) B3

QTBE  DFIS BAZHY Z,y,
DOWNT BRIT WO . o2
ddo3w B BINT 0IPYTT,

ROWORAT ?

(1) =»zd Fosmdod, =PEO
DITB0D FINT I Hed
BOOD BFEST w3,

(2) TR e,

3) «Twdom ADIpIIK] @333&)539
S

(4) B0cOT oIRPHTR ©Y

DTYAHE waqséoédcﬁégs DGNFIY
83 FPNT03 55’0333338.

(1) Qs ey
2) DzR BED
(3) mabae®s e

(4) QTIFITE WM

82.

83.

84.

(24 - A)

™o (TR é@ea’a@) Eeprtelal
e‘béf%mﬁ&‘ dsqﬁéoédwmd TBAT 03T
AN AP ¥ AFYTTIDD TR
DBOWE  AIWIB.  any
TOTRRL ) 30T

(1) =% Sz SsF NS (0)
o3y, BeIReIeRd

2) omEs wusdy (1 - o
Segmedens

(3) =oEood M, (n) Be3medess

4) SHEOH
NS

Fome (X)) &

X a2 Y S@IT o0 L0IAEE
S ATW0P T™Om0Ty 0.65 ché’,
3X 4+ 2 &8 4 + 2Y Sedw

AT/ THT0FH 233030
(1) -0.5 (2) 0.5
(3) 0.65 4 1

AT DTTBANTE 20T RO
N(u, 82 = 12) end. 8 ™Moo
ojmcg)aé)émﬁ 3nc 300 ==one
HOIROO30 4.25 wchgd. en H @ u
=45 V_H, : p<45 Qoo 3693
o, WOesHen 2 wosohy OB,
T3 ATEs 23030

(1) 0.36 (2) -0.36

3) -025 4) 1.69
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A sufficient statistic 1s
(D)
(2)

unbiased

uses all information a sample
contains about the parameter

to be estimated

consistent

3)
4)

efficient

In the formula for confidence
interval, Z , is a part of the
formula. What does the subscript
o/2 refer to ?

(1) The area in the lower tail and
upper tail of the sampling
distribution of the sample

mean.
The level of confidence.

2)
3)

The level of significance

divided by two.
None of these

4)

The boundaries of the confidence

intervals are called as
(1)
(2)
3)
4)

confidence levels
the degree of confidence
significance level

the confidence limits

82.

83.

84.

(25 - A)

After constructing a confidence
interval for population mean, you
feel that the interval is too wide
and useless. In order to correct
this problem, you need to

(D
2)

increase the population S.D. ¢

the
confidence (1 — o).

increase level of

3)
4)

increase the sample size n.

increase the sample mean X.

Karl
coefficient between X & Y is
0.65. Then the
between the variables 3X + 2 and
4-2Y is

(1) -0.5

(2) 0.5

(3) 0.65

“4) 1

Pearson’s correlation

correlation

A population 1s distributed as
N(u, 6 82 = 12). A random sample
of 300 items drawn from this has
mean 4.25. The value of the 2
Statistic to test Hy : p=4.5 Vs H,

u<4.5is
(1) 0.36
(2) -0.36
3) -0.25
4) 1.69
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TFINITOS AN F0aJ030
(1) 6 2) 9
3) 12 “4) 22

3 29NT 03w BI0T, BN obeess
3 BTPTRODy, YTOIRENRTIS

(1) 5S¢0y (2) 5

(3) 4 ) 1

90.

91.

92.

93.

(26 - A)

2,000 meaéwsgl “30” 2300 200N
AN aplg] BRTO3NE BOYTICOHNZ 0N
&36§o$§g

(1) =T DTS AT

(2) TpemoR® & NTOB YIS

3) mﬁxaegd/méméeoﬁ NITH
SeYchie

(4) TPOT TOBREST  WAWIOD
NITB OFZIC

X X, orie X; mied st Busnded

X, 3 X; nd DS HowxdI

Howezoe X, 83 3YNS08THIT

(1) X,=a,,;+b,, X,+b,;, X,

(2) X,=a,;+b,; X,+b,,X,

3) X,=a,,+b,,; X,+b;, X,

(4) 2N oYTe ¥Y

SHRI0DO TR DG
meawisaﬁ%f Beodnwsy, B8 IIN
&raé,g 3

R [1 23456

R,[6 54 321
BIYNY BT Beed BB THHO0FT
eJedo3n

(1) 203,
3) -1

2) +1
4) 05

©3R3 TJodw (contingency table)
5 egmennwd T 4 Foy
LMY BROJTIZER. THeT oy
ST RFoZZohay Toes T
woson D) BN, MWBoIFIy (d.f)
BROOTITE.

(1 9
3) 12

(2) 20
4) 15
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87.
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To test the significance of the

observed  sample correlation
coefficient the usual test is

(1) t-test

(2) y>-test

(3) F-test

(4) None of these

Missing observation in CRD is to
be

(1) estimated

(2) guessed

(3) 1ignored

(4) None of these

A randomised block design has
(1) one way classification

(2) two way classification

(3) three way classification
(4) No classification

The total number of possibilities
in which arrangements in 3 X 3
Latin square are

(1) 6
3) 12

2) 9
4) 22

Yates correction are generally
made when the number of degrees
of freedom i1s

(1) greater than 5
2) 5
(3) 4
“4) 1

90.

91.

92.

93.

(27 - A)

The  probability  distribution
associated with the random
experiment of tossing a coin until
“head” turns up

(1) Binomial distribution

(2) Poisson distribution

(3) Geometric distribution

(4) Hyper geometric distribution

In case of three variables (X, X,
& X,) the regression equation X,
on X, and X, has the form

(1) X,=a,,;+b,; X,+b,;, X,
(2) X,=a,;+b,; X, +b,,X,
(3) X,=a,,+b,; X,+b,,X,
(4) None of these

Ranks according to two attributes
in a sample are given below :

R, |1 2 3 4 5 6

R, |6 5 4 3 2 1

The rank correlation coefficient
between them is

(1) Zero 2) +1
3) -1 4) 05
For testing independence of

attributes in a contingency table
having 5 rows and 4 columns the
degrees of freedom for y? statistic is
() 9 (2) 20
3) 12 4) 15
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2,000 WB0IG BIFTRTE ITTJTR
SEonRy  BIHoULIB. B W),
DesTodT  DF[Ty, B IINT03
3303083

(1) BBwe3S Beex

(2) 20TRe NPT BRCR
(3) QNTEIC NPT BRCR
(4) 2N YTe ¥Y

n’b%’ ﬁoapasé E0TIWTeY WD

(D) 3§§m3mﬁm§£

(2) ézﬁmcﬁagﬁdogcﬁ

(3) QG =3
ézﬁmcﬁagﬁdogcﬁ

(4) 2N YTR ¥Y

TN

LPP %’wﬁéojasgl TOTORWY WFAD

Seansy,  SPDY, eI

[O®ITY)

(1) Seanzgod odwyde wRNE
elesicial

2) wobemE, TIBT NANTE
elesicial

3) FOODE AT, BRe3E Fonnyd
elesicial

(4) PN cIPTR B

25000 omzﬁe)zé)é BeFE NB¥wtos» 10

233 BT ROIROOD

(1) ©EEdmny

(2) wyEmdoummd wEs [ode
QT WO

(3) omnion ¥3ZEdHTHIA

4) 1037 snoH3s

(28 - A)

98.

99.

100.

Yy’ DZTBok n &N, WIS, S
£Jao&zg5’, ©03o MGF  (&weadhoes®
wTTee3on® $0T,3%) =t
ZFNT03TLIA

(1 a-v:? (2) a-2t)2

(3) (a-20? 4) 1-v2

) T T N IOFLL [IRSI
NPT  TWOTWIONT  AFIRE,08
TOHITNTO NOT TRSHED
woﬁaﬁom_ﬁ. 83 Tw’odw?d@ (ST o =]
29N BoeTY, DI
ORORTYI

(1) 2TBe  wWOHOR
a’ae%

(two tailed)

(2) Szymeme SFST (C.L.)

(3) wmOB3 THods  oDHT0TH

()TWEEIT?) Do
9IOTTITD
(4) eom wHod (one tailed)

me%

S QoPRED® SFW, B FIAT
a’@eio&@ofbﬁ’ ROWOHAT

(1) H,:6=6,VsH,:06>6,
(2) H,:0<6,VsH,:6>60,
(3) H,:6=6,VsH,:0+86,
(4) H,:0=6,VsH,:60=0,
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In a criminal case an innocent was
punished. The type of error
associated with this decision 1is
called as

(1)
2)
3)
4)

Standard error
Type I error
Type II error

None of these

Maximum likelihood estimators
are always

(D
2)
3)
4)

unbiased
consistent
unbiased & consistent

None of these

In a graphical method of solving
LPP, the optimum solution lies at

(D
2)

anywhere on the graph

lies at the boundaries of
feasible region

lies at the vertices of feasible
region

3)

None of these

4)

If variance of a random variable is
10. Then mean of the random
variable

(D
2)
3)
4)

does not exist
may or may not exist
always exist

equal to 10

98.

99.

100.

(29-A)

The moment generating function
of y? distribution with n degrees
of freedom is

() a-u°
@ a-20°
3) -2
@) a-v:

If a teacher is trying to prove that
method  of  teaching
mathematics 1is
than traditional one.

new
more effective

Then he will conduct
(1)
(2)
3)

two tailed test
confidence interval

the
population

point  estimate  of

unknown
parameters

one tailed test

4)

Pearson Lemma is
concerned with testing

(D
2)
3)
4)

Neyman

H,:0=06,VsH,:0>6,
H,:0<06,VsH,:0>6,
H,:0=6,VsH, :6=6,

H,:0=0,VsH,:60=0,
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